Vedantiy

LIVE ONLINE TUTORING

Study Material

Downloaded from Vedantu

I Live ONLINE
MASTER CLASSES

FREE Webinars by Expert Teachers

About Vedantu

Vedantu is India’s largest LIVE online teaching platform
with best teachers from across the country.

Vedantu offers Live Interactive Classes for JEE, NEET, KVPY,
NTSE, Olympiads, CBSE, ICSE, IGCSE, IB & State Boards for
Students Studying in 6-12th Grades and Droppers. Register for FREE

Awesome Master Teachers

Anand Prakash n Pulkit Jain Vamsi Krishna
B.Tech, IIT Roorkee ‘r B.Tech, IIT Roorkee B.Tech, IIT Bombay
Co-Founder, Vedantu E ! Co-Founder, Vedantu » Co-Founder, Vedantu

My mentor is approachable and guides me
in my future aspirations as well.

Student - Ayushi

10,04,600+ 9,49,900+

Hours of LIVE Learning Happy Students

FREE MASTER CLASS SERIES

For Grades 6-12th targeting JEE, CBSE, ICSE & much more
Free 60 Minutes Live Interactive classes everyday
Learn from the Master Teachers - India’s best

My son loves the sessions and | can
already see the change.

Parent - Sreelatha

95% 95% Students of Regular

Tuitions on Vedantu scored
Top Results  ahove 90% in exams!

Register for FREE



https://vdnt.in/2ZXyh
https://vdnt.in/2ZXyb

Download
Vedantu's App & Get

All Study Material LIVE

with Solution Doubt Solving
Daily FREE Tests and
LIVE Classes Reports

GET IT ON

P Google Play

v4l

Have a Doubt? Ask Now!

MY DOUBTS

DOWNLOAD THE APP


https://vedantu.app.link/upPa3AwalV
https://vedantu.app.link/upPa3AwalV

Class XI — NCERT — Maths Chapter 10 \l@dﬂ"iu
Straight Lines

Exercise 10.1

Question 1:

Draw a quadrilateral in the Cartesian plane, whose vertices are (-4, 5), (0, 7), (5, -5) and (-4, -
2). Also, find its area.

Solution 1:

Let ABCD be the given quadrilateral with vertices A (-4, 5), B (0, 7), C (5, -5), and D (-4, -
2).
Then, by plotting A, B, C and D on the Cartesian plane and joining AB, BC, CD, and DA, the
given quadrilateral can be drawn as

y

To find the area of quadrilateral ABCD, we draw one diagonal, say AC.
Accordingly, area (ABCD) = area (A ABC) + area (AACD)
We know that the area of a triangle whose vertices are (X1, y1), (X2, y2), and (X3, ys) is

1
Elxl(yz—y3)+xz(y3—y1)+x3(y1—yz)\
Therefore, area of AABC

1 ]
:E‘—4(7+5)+0(—5—5)+5(5—7)un|t2|
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=%\—4(7+5)+0(—5—5)+5(5—7)\unit2
:%‘—4(12)+5(—2)‘unit2
=1|—48—1O|unit2

2
- 1| sgjunit?

2

= l x 58unit?
2

= 29unit?
Area of AACD

:%\_4(—5+2)+5(—2—5) +(~4)(5-5)|unit’
:%|—4(—3)+5(—7)—4(10)|unit2
:%|12—35—40|unit2

=%|—63|unit2

=@unit2
2

Thus, area (ABCD) = (29 + %) unit® = @ unit® = %1 unit?

Question 2:
The base of an equilateral triangle with side 2a lies along the y-axis such that the midpoint of
the base is at the origin. Find vertices of the triangle.

Solution 2:

Let ABC be the given equilateral triangle with side 2a.

Accordingly, AB =BC = CA = 2a

Assume that base BC lies along the y-axis such that the mid-point of BC is at the origin.

i.e.,, BO = OC =a, where O is the origin.

Now, it is clear that the coordinates of point C are (0, a), while the coordinates of point B are
(0, -a).

It is known that the line joining a vertex of an equilateral triangle with the mid-point of its
opposite side is perpendicular.

Hence, vertex A lies on the y-axis.

10.Straight Lines 2
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‘\
A
X ' X
4 B\q O ”.( &
. 2a )
:‘\
Vv

On applying Pythagoras theorem to A AOC, we obtain
(AC)? =(OA)* +(OC)’

= (2a)’ =(OA) +a?

= 4a’-a’=(OAY’

= (OA)’ =342

= 0A=+[3a

. Coordinates of point A = (J_r\/§a, 0)

Thus, the vertices of the given equilateral triangle are (0,a),(0,—a),and (\/§a, 0)or(0, a),(0,-a),and (—»\/§a, O)

Question 3:
Find the distance between P(x;,y;) and Q(X,, y,) when (i) PQ is parallel to the y-axis, (ii)
PQ is parallel to the x-axis.

Solution 3:

The given points are P(x,,y;) and Q(X,,Y,).
(i) When PQ is parallel to the y-axis, X1 = Xo.

In this case, distance between P and Q = \/(xz —)(1)2 +(y, - yl)2

= (yz _y1)2
:|yz_y1|

@iy Inthis case, distance between P and Q = \/(xz —)(1)2 +(y, - y1)2

=4(% _Xl)z
=[x, x|
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Question 4:
Find a point on the x-axis, which is equidistant from the points (7, 6) and (3, 4).

Solution 4:

Let (a, 0) be the point on the X- axis that is equidistance from the points (7, 6) and (3, 4).
Accordingly, ,[(7-a)’ +(6-0)" = \/(3-a)’ +(4-0)
=49 +a? —14a+36 =/9+a>—6a+16

= +a?-14a+85 =+\/a’ —6a+25

On squaring both sides, we obtain
a’-14a+85=a’-6a+25

= -14a+6a=25-85

2

= -8a=-60
60 15
a=—=—

8 2

Thus, the required point on the x-axis is (%0)

Question 5:
Find the slope of a line, which passes through the origin, and the mid-point of the segment
joining the points P (0, -4) and B (8, 0).

Solution 5:
The coordinates of the mid-point of the line segment joining the points

P (0, -4) and B (8, 0) are (0—28, _42+0J — (4,-2)

It is known that the slope (m) of a non-vertical line passing through the points (X1, y1) and (xz,

y2) is given by m:u,XZ £ %

2

Therefore, the slope of the line passing through (0, 0,) and (4, -2) is _42 _OO 2 1

Hence, the required slope of the line is —3.

Without using the Pythagoras theorem, show that the points (4, 4), (3, 5) and (-1, -1) are
vertices of a right angled triangle.

Solution 6:
The vertices of the given triangle are A (4, 4), B (3, 5), and C (-1, -1).
It is known that the slope (m) of a non-vertical line passing through the points (x1, y1) and (X2,

y2) is given by m:u,XZ £ X,
X —_

2

10.Straight Lines 4
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(6]

. Slope of AB (m,) = 4y

= w

-4
-1-5 -6 3
Slope of BC (mz):nz_—dfzE
4+l 5,
4+1 5
It is observed that mm,= -1
This shows that line segments AB and CA are perpendicular to each other i.e., the given
triangle is right-angled at A (4, 4).

Thus, the points (4,4),(3,5), and (—1,—1) are the vertices of a right-angled triangle.

Slope of CA (m,)

Question 7:
Find the slope of the line, which makes an angle of 30° with the positive direction of y-axis
measured anticlockwise.

Solution 7:
If a line makes an angle of 30 with positive direction of the y-axis measured anticlockwise,
then the angle made by the line with the positive direction of the x-axis measured
anticlockwise is 90° +30° =120°.

WY

o + 30

i

L
|

line

1[1.-"-
Thus, the slope of the given line is tan 120° =tan (1800 —60”) =—tan 60° =—/3

n 8:
Find the value of x for which the points (x, -1), (2, 1) and (4, 5) are collinear.

Solution 8:
If points A (X, -1), B (2, 1), and C (4, 5) are collinear, then
Slope of AB = Slope of BC

10.Straight Lines
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=x=1
Thus, the required value of x is 1.

Question 9:
Without using distance formula, show that points (-2,-1),(4,0),(3,3)and (-3, 2) are vertices

of a parallelogram.

Solution 9:
Let points (~2,-1),(4,0),(3,3)and (-3, 2) be respectively denoted by A, B, C, and D.
i 3, 2) Can
&({-2.-1) B(4.0)
Slopes of AB = o _d
442 6
Slopes of CD = 23 _-1.1
-3-3 -6 6

= Slope of AB = Slope of CD
= AB and CD are parallel to each other.

Now, slope of BC = Al N
34 -1
Slope of AD = ﬂziz_s
3+2 -1

= Slope of BC = Slope of AD

= BC and AD are parallel to each other.

Therefore, both pairs of opposite side of quadrilateral ABCD are parallel. Hence, ABCD is a parallelogram.
Thus, points (-2,-1),(4,0),(3,3)and (-3, 2)are the vertices of a parallelogram.

Question 10:
Find the angle between the x-axis and the line joining the points (3, -1) and (4, -2).

Solution 10:

10.Straight Lines 6
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—2—-(-1
The slope of the line joining the points (3, -1) and (4, -2) is m= 4—() =2+1=-1

Now, the inclination (@) of the line joining the points (3, -1) and (4, -2) is given by tan 8=-1
= 0=(90° +45°)=135°

Thus, the angle between the x-axis and the line joining the points (3, -1) and (4, -2) is 135°

The slope of a line is double of the slope of another line. If tangent of the angle between them

[ % find the slope of the lines.

Solution 11:
Let m1, m be the slopes of the two given lines such that m; = 2m.

We know that if @is the angle between the lines e Pes . and TR

m,—m,
1+mm,

tan @ =

It is given that the tangent of the angle between the two lines is % :

.1 | m=2m
3 [1+(2m).m
1| -m_
3 [1+2m?
1  -m -m m
== ~or S=— > |= .
3 1+2m 3 1+2m 1+2m
1 -m
==—
3 [1+2m?

1 — _ -m m
=== > Or =- > | = 5
3 1+2m 1+2m 1+2m

Case |

1 -m
- — =

3 1+2m?

=1+2m* =-3m
=2m?+3m+1=0
=2m*+2m+m+1=0
=2m(m+1)+1(m+1)=0
=(m+1)(2m+1)=0

1
=m=-lorm=-=
2

10.Straight Lines 7




Class XI — NCERT — Maths Chapter 10 \led[mlu
Straight Lines

If m = -1, then the slopes of the lines are -1 and -2.
Ifm= —%,then the slopes of the lines are —%and -1.

Case Il

1 m

3 1+2m?
=2m?+1=3m

=2m’-3m+1=0
=2m’-2m-m+1=0
= 2m(m-1)-1(m-1)=0
= (m-1)(2m-1)=0
=m=1or m:l

2

If m = 1, then the slopes of the lines are 1 and 2.

Ifm= %,then the slopes of the lines are %and 1.

Hence, the slopes of the lines are -1 and -2 or % and-1orland2or % and 1.

Question 12:
A line passes through (x;,y;) and (h,k). If slope of the line is m, show that k —y, =m(h—x,)

Solution 12:
The slope of the line passing through (x;,y;) and (h,k)is E_yl .
—X%
It is given that the slope of the line is m.
. k— yl =m
h—x

=k-y,=m(h-x)
Hence, k —y, =m(h—x,)

If three points (h,0),(a,b),and(0,k) lie on a line, show that %+E =1.

Solution 13:
If the points A (h,0),B (a,b),and C (0,k) lie on a line, then

Slope of AB = Slope of BC

10.Straight Lines 8
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b-0 k-b

a-h O0-a
b _
= =——
a-h -a

= —-ab=(k-b)(a-h)
= —ab=ka—-kh—-ab+bh

= ka+bh=kh
On dividing both sides b kh, we obtain
ka bh kh

Hence, E+E=1
h k

Question 14:
Consider the given population and year graph. Find the slope of the line AB and using it, find
what will be the population in the year 2010?

Ay
r ~
5 1029 I
bt B~
g (1995, 97)
o T
2 2o
= ~
—g; 922Y (1985, 92)
o _,_/"‘
poal v
X
—_—) e —o0—o—o—»
O] 1985 1990 1995 2000 2005 2010
Years
Solution 14:

Since line AB passes through points A (1985, 92) and B (1995, 97), its slope is
97-92 5 1

1995-1985 10 2

Let y be the population in the year 2010. Then, according to the given graph, line AB must
pass through point C (2010, y).

.. Slope of AB = Slope of BC

10.Straight Lines www.vedantu.com 9
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1__y=97
2 2010-1995
1 y-97

2 15

15
=>—=y-97

> y
=y-97=75
=y=75+97=104.5

Thus, the slope of line AB is % while in the year 2010, the population will be 104.5 crores.

Exercise 10.2

Question 1:
Write the equation for the x and y-axes.

Solution 1:

The y-coordinate of every point on the x-axis is 0.
Therefore, the equation of the x-axis isy = 0.

The x-coordinate of every point on the y-axis is 0.
Therefore, the equation of the y-axis isy = 0.

Question 2:

Find the equation of the line which passes through the point (-4, 3) with slope % :
Solution 2:

We know that the equation of the line passing through point (xo, yo), whose slope is m, is
(Y=¥o) =M(x=%).

Thus, the equation of the line passing through point (-4, 3), whose slope is % , 1S

(y-3)=75(x+4)

2(y-3)=x+4
2y-6=x+4
e, x-2y+10=0

Question 3:
Find the equation of the line which passes through (0, 0) with slope m.

Solution 3:

10.Straight Lines 10
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We know that the equation of the line passing through point (xo, yo), whose slope is m, is

(Y=Yo) =m(x=%)
Thus, the equation of the line passing through point (0, 0), whose slope is m, is

(y~0)=m (x-0)
i.e., y = mx

Find the equation of the line which passes through (2, 2«/5) and is inclined with the x-axis at

an angle of 75°

Solution 4:
The slope of the line that inclines with the x-axis at an angle of 75°is m = tan 75°
1 B+l
tan 45° + tan 30° 1+ﬁ BB B3+l
m = tan(45° +30°) = = = =
1-tan45°.tan30° , ; 1 3-1 B3-1
B

We know that the equation of the line passing through point (xo, yo), whose slope is m, is
(Y=Yo) =m(x=%)-
Thus, if a line passes through (2, 2«/§) and inclines with the x-axis at an angle of 757, then

the equation of the line is given as

(v-2 3)=£j(x—2)

(y-2)(6-)=( )2
(502 () =x( 1) -2( )
(VB+1)x—(VB-1)y=23+2-6+2\3
(ﬁ+1)x—(ﬁ—1)y:4ﬁ—4
i.e.,(ﬁ+1)x—(J§—1)y - 4(\/5—1)

Find the equation of the line which intersects the x-axis at a distance of 3 units to the left of
origin with slope -2.

Solution 5:

It is known that if a line with slope m makes x-intercept d, then the equation of the line is
given as

Y=m(x—-d)

For the line intersecting the x-axis at a distance of 3 units to the left of the origin, d = -3.

11
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The slope of the line is givenas m = -2
Thus, the required equation of the given line is

Y =-2[x-(3)]
Y =-2Xx—-6
e, 2x+y+6=0

Find the equation of the line which intersects the y-axis at a distance of 2 units above the
origin and makes an angle of 30° with the positive direction of the x-axis.

Solution 6:

It is known that if a line with slope m makes y — intercept c, then the equation of the line is
given as

Y=mx+c

Here, c =2 and m =tan30° = i

B

Thus, the required equation of the given line is

yzix+2

3
B x+2+/3
E
J3y=x+23
i.e.X-v3y+243=0

Question 7:
Find the slope of the line, which makes an angle of 30” with the positive direction of y-axis
measured anticlockwise.

Solution 7:

It is known that the equation of the passes through points
(%,%:) and (%Y, )isy -y, =22=% (x-x,)

2 2

Therefore, the equation of the line passing through the points (-1, 1) and (2, -4) is

(y-1) = _24+_11(x +1)

(y-1)= _?5(x+1)
3(y-1) =-5(x+1)

3y—-3=-5x-5
ie.,5x+3y+2=0

10.Straight Lines 12
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Question 8:
Find the equation of the line which is at a perpendicular distance of 5 units from the origin

and the angle made by the perpendicular with the positive x-axis is 307 .

Solution 8:

If p is the length of the normal from the origin to a line and w is the angle made by the
normal with the positive direction of the x-axis, then the equation of the line given by
X C0S @ +Yysin w=p.

Here, p =5 units and o= 30°

Thus, the required equation of the given line is

x cos 30°+ysin 30°=5

x£+ y.l=5
2 2

i.e.\3x+y=10

Question 9:
The vertices of APQR are P (2, 1), Q (-2, 3) and R (4, 5). Find equation of the median
through the vertex R.

Solution 9:

It is given that the vertices of APQR are P (2, 1), Q (-2, 3) and R (4, 5).
Let RL be the median through vertex R.

Accordingly, L be the mid-point of PQ.

By mid-point formula, the coordinates of point L are given by (%%j = (O, 2)

PiZ 1)

Q R
(-2.3) {4, 5)

It is known that the equation of the line passing through points

(x,¥:)=(4,5) and (x,,y,)=(0,2).

2-5
Hence,y—-5= ——(x—-4
y oy, 4

—5=—"(x-4
=y-5=—;(x-4)

= 4(y-5)=3(x—-4)
=4y-20=3x-12
=3x-4y+8=0

10.Straight Lines 13
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Thus, the required equation of the median through vertex R is 3x—4y+8=0.

Question 10:
Find the equation of the line passing through (-3, 5) and perpendicular to the line through the
points (2, 5) and (-3, 6).

Solution 10:

The slope of the line joining the points (2, 5) and (-3, 6) is m= % = %

We know that two non-vertical lines are perpendicular to each other if and only if their slopes
are negative reciprocals of each other.

Therefore, slope of the line perpendicular to the line through the points (2, 5) and (-3, 6)

IR

Now, the equation of the line passing through point (-3, 5), whose slope is 5, is
(y—5)=5(x+3)

y—-5=5x+15

ie.,5x—y+20=0

Question 11:
A line perpendicular to the line segment joining the points (1, 0) and (2, 3) divides it in the
ration 1: n. Find the equation of the line.

Solution 11:

According to the section formula, the coordinates of the point that divides the line segment
joining the points (1, 0) and (2, 3) in the ration 1: n is given by

[n(1)+1(2) n(O)+1(3)J_(n+2 3 j

1+n ' 1+4n n+l n+1

The slope of the line joining the points (1, 0) and (2, 3) is
3-0
m=——=3
2-1
We know that two non-vertical lines are perpendicular to each other if and only if their slopes
are negative reciprocals of each other.
Therefore, slope of the line that is perpendicular to the line joining the points (1, 0) and (2, 3)

1 1

m 3
n+2 3

Now the equation of the line passing through | ——,—— | and whose slope is 1 is given
n+1 n+l 3

by

10.Straight Lines 14
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( 3 1( n+2j
Y——— =~ 5| X~/
n+1 3 n+1

=3[(n+1)y-3]=-[x(n+1)-(n+2)]
=3(n+1)y-9=—(n+1)x+n+2
= (1+n)x+3(1+n)y=n+11

Find the equation of a line that cuts off equal intercepts on the coordinate axes and passes
through the points (2, 3).

Solution 12:

The equation of a line in the intercept form is
X Yy :

—+==1 L

-5 (@)

Here, a and b are the intercepts on x and y axes respectively.

It is given that the line cuts off equal intercepts on both the axes. This means that a = b.
Accordingly, equation (i) reduces to

1 + X =1

a a

=>x+y=a ..(ii)

Since the given line passes through point (2, 3), equation (ii) reducesto 2+3=a =a=5
On substituting the value of a in equation (ii), we obtain

X +y =5, which is the required equation of the line.

Question 13:
Find the equation of the line passing through the points (2, 2) and cutting off intercepts on the
axes whose sum is 9.

Solution 13:

The equation of a line in the intercept form is
X Yy :

—+==1 ..

N (@)

Here, a and b are the intercepts on x and y axes respectively.

Itisgiventhata+b=9 = b=9-a ...(i)

From equation (i) and (ii), we obtain

X, Y .. (iii)

a 9-a

It is given that the line passes through point (2, 2). Therefore, equation (iii) reduces to
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=a’-9a+18=0

=a’-6a-3a+18=0

=a(a-6)-3(a-6)=0

=(a—6)(a—-3)=0

—a=6o0ra=3

Ifa=6andb=9 -6 =3, then the equation of the line is

Xl X+2y-6=0
6 3
Ifa=3andb=29-3 =6, then the equation of the line is

Xido1=ox+ y-6=0
3 6

Question 14:

Find equation of the line through the points (0, 2) making an angle 2?” with the positive x-

axis. Also, find the equation of the line parallel to it and crossing the y-axis at a distance of 2
units below the origin.

Solution 14:

The slope of the line making an angle 2?7[ with the positive x-axis is m = tan [2?”) =—3

Now, the equation of the line passing through points (0, 2) and having a slope —/3 is
(y-2)=—/3(x-0)

i.e.,\/§x+y—2:0

The slope of line parallel to line 3x+ y—2=01is —\/§.

It is given that the line parallel to line \/3x+ y—2=0 crosses the y-axis 2 units below the
origin i.e., it passes through point (0, 2).
Hence, the equation of the line passing through points (0, 2) and having a slope —/3 is
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y-(-2)=—B(x-0)

y+2=—\/§x
\/§x+y+2:O

The perpendicular from the origin to a line meets it at the point (-2, 9), find the equation of
the line.

Solution 15:

The slope of the line joining the origin (0, 0) and point (-2, 9) is m, :% = —%
Accordingly, the slope of the line perpendicular to the line joining the origin and points (-2,
9)is

1 1 2
m2:—:——:§

m, (_9j
2
Now, the equation of the line passing through point (-2, 9) and having a slope m, is
2
(y-9) =§(x+2)
9y-81=2x+4
i.e., 2x-9y+85=0

Question 16:

The length L (in centimeter) of a copper rod is a linear function of its Celsius temperature C.
In an experiment, if L = 124.942 when C = 20 and L = 125.134 when C = 110, express L in
terms of C.

Solution 16:
It is given that when C = 20, the value of L is 124.942, whereas when C = 110, the value of L
is 125.134.

Accordingly, points (20, 124.942) and (110, 125.134) satisfy the linear relation between L and
C.

Now, assuming C along the x-axis and L along the y-axis, we have two points i.e., (20, 124.942)
and (110, 125.134) in the XY plane.

Therefore, the linear relation between L and C is the equation of the line passing through points
(20, 124.942) and (110, 125.134).
125.134-124.942

110-20

(L-124.942) = %(C ~20)

(L-124.942) =

(C-20)

ie., L:%(C —20)+124.942. which is required linear relation.
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Question 17:

The owner of a milk store finds that, he can sell 980 liters of milk each week at Rs 14/liter
and 1220 liters of milk each week at Rs 16/liter. Assuming a linear relationship between
selling price and demand, how many liters could he sell weekly at Rs 17/liter?

Solution 17:

The relationship between selling price and demand is linear.

Assuming selling price per liter along the x-axis and demand along the y-axis, we have two
points i.e., (14, 980) and (16, 1220) in the XY plane that satisfy the linear relationship between
selling price and demand.

Therefore, the line passing through points (14, 980) and (16, 1220).
16-14

y—980 :%(X—M)

y—980=120(x—14)

i.e., y=120(x-14)+980

When x=Rs 17/liter,

y=120(17-14)+980

= y=120x3+980=360+980=1340

Thus, the owner of the milk store could sell 1340 liters of milk weekly at Rs 17/liter.

Question 18:
P (a, b) is the mid-point of a line segment between axes. Show that the equation of the line is

XYoo,
a b

Solution 18:
Let AB be the line segment between the axes and let P (a, b) be its mid-point.

(O B
Let the coordinates of A and B be (0, y) and (X, 0) respectively.
Since P (a, b) is the mid-point of AB,
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o2t 59

:>§=aand Z=b
2

-.x=2a and y=2b
Thus, the respective coordinates of A and B are (0, 2b) and (2a, 0).
The equation of the line passing through points (0, 2b) and (2a, 0) is
_(0-2)
(y-2b) —m(x—o)
-2b
y—2b= E(X)
a(y—2b)=-bx
ay —2ab =—bx
i.e., bx+ay=2ab
On dividing both sides by ab, we obtain
bx ay 2ab

- = =
ab ab ab

:>§+X:2
a b

Question 19:
Point R (h, k) divides a line segment between the axes in the ratio 1:2. Find equation of the
line.

Solution 19:
Let AB be the line segment between the axes such that point R (h, k) divides AB in the ratio
1:2.

| B

Let the respective coordinates of A and B be (x, 0) and (0, y).
Since point R (h, k) divides AB in the ratio 1:2, according to the section formula,

10.Straight Lines 19




Class XI — NCERT — Maths Chapter 10 \ledanlu
Straight Lines

(h’k):(1x0+2xx’1xy+2><0}
1+2 1+2

:>x:3—2hand y =3k

Therefore, the respective coordinates of A and B are (B—Zhoj and (0, 3k).

Now, the equation of the line AB passing through points (B—Zhoj and (0, 3K) is

0
2
Zk( 3hj
=——| X——
h 2
hy = —2kx+ 3hk
ie., 2kx + hy = 3hk

Thus, the required equation of a line is 2kx+hy =3hk

Question 20:
By using the concept of equation of a line, prove that the three points (3, 0), (-2, -2) and (8, 2)
are collinear.

Solution 20:
In order to show that the points (3, 0), (-2, -2) and (8, 2) are collinear, it suffices to show that
the line passing through points (3, 0) and (-2, -2) also passes through point (8, 2).
The equation of the line passing through points (3, 0) and (-2, -2) is
(-2-0)
—-0)=——=(x-3
-2

=—(Xx-3

y=—(x-3)

Sy=2x-6

i.e., 2x-5y=6

It is observed that at x = 8 and y= 2,

L.H.S = 2x8-5x2=16-10=6=R.H.S.

Therefore, the line passing through points (3, 0) and (-2, -2) also passes through point (8, 2).
Hence, points (3, 0), (-2, -2), and (8, 2) are collinear.
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Exercise 10.3

Question 1:

Reduce the following equation into slope-intercept form and find their slopes and the y-
intercepts.

(i) x + 7y =0 (ii) 6x + 3y - 5=0 (iii) y=0

Solution 1:
(1) The given equation is X + 7y = 0.
It can be written as

1 .
=—=x+0 ..(i
y=—2 (i)
This equation is of the form y = mx + ¢, where m :—% and c=0

Therefore, equation (1) is the slope-intercept form, where the slope and the y-intercept are —%

and O respectively.
(if) The given equation is 6x + 3y — 5 = 0.
It can be written as

y=%(—6x+5)

5
=-2X+— ..(2
y x+3 (2)

This equation is of the formy = mx + ¢, where m=-2 and ¢ = %

Therefore, equation (2) s in the slop-intercept form, where the slope and the y-intercept are -2
and %respectively.

(iii) The given equation is y = 0.

It can be written as

y=0x+0 ...(3)

This equation is of the formy = mx + ¢, where m=0and ¢ = 0.

Therefore, equation (3) is in the slope-intercept form, where the slope and the y-intercept are
0 and 0 respectively.

on 2:
Reduce the following equations into intercept form and find their intercepts on the axes.
() 3x + 2y — 12 = 0 (ii) 4x — 3y = 6 (iii) 3y + 2 =0.

Solution 2:
Q) The given equation is 3x — 2y — 12 =0
It can be written as
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3x+2y=12

%4_& =1
12 12

Xy
e, —+==1 (1
i.e 4+6 (1)

This equation is of the form 5+% =1,wherea=4and b =6.
a

Therefore, equation (1) is in the intercept form, where the intercepts on the x and y axes are 4
and 6 respectively.

(i)  The given equation is 4x — 3y = 6.
It can be written as

4x 3y _,4
(3] 6
2x_y_

3 2

Therefore, equation (2) is in the intercept form, where the intercepts on x and y axes are % and

-2 respectively.

(iii)  The given equation is 3y + 2 =0.
It can be written as
y=-2

Therefore, equation is in the §+X =1,wherea=0and b= —%.

a
Therefore, equation (3) is in the intercept form, where the intercept on the y-axis is —%and it

has no intercept on the x-axis.

Reduce the following equations into normal form. Find their perpendicular distance from the
origin and angle between perpendicular and the positive x-axis.

(i) x-+/3y +8=0 (ii) y — 2 = 0 (i) x -y = 4

Solution 3:
Q) The given equation is x- J§y+8: 0
It can be written as:
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x—/3y=-8
:>—x+x/§y:8
On dividing both sides by (—1)2 +(ﬁ)2 =4 =2, we obtain
x,¥8,.8
2 2 2
:>[—ij+ ﬁ y=4
2 2
= X€05120° + ysin120° = 4 (1)

Equation (1) is in the normal form.
On comparing equation (1) with the normal form of equation of the line

XCosSw+ Yysinw= p, we obtain @= 120°and p = 4.
Thus, the perpendicular distance of the line from the origin is 4, while the angle between the
perpendicular and the positive x-axis is 120°.
(i)  The given equationisy —2 = 0.
It can be reduced as 0.x + 1.y = 2
On dividing both sides by /0% +12 = 1, we obtain 0.x + 1.y = 2
= x0s90° + ysin90° =2 .(2)
Equation (2) is in the normal form.
On comparing equation (2) with the normal form of equation of line
XCoS@+ YysSinw= p, we obtain w= 90° and p = 2.
Thus, the perpendicular distance of the line from the origin is 2, while the angle between the
perpendicular and the positive x-axis is 90°.
(iii)  The given equation is x —y = 4.
It can be reduced as 1.x + (-1) y=4

On dividing both sides by 1/12 +(—1)2 = /2, we obtain
L[-L)yL
R
T . T
= xcos(Zn—Zj+ ysm(Z;:—Zj =22

— xc0s315° +ysin315° =242 ...(3)

Equation (3) is in the normal form.
On comparing equation (3) with the normal form of the equation of the line

XCOSw+ ysinw=p, we obtain @= 315°and p = 2/2.
Thus, the perpendicular distance of the line from the origin is 24/2 , while the angle between
the perpendicular and the positive x-axis is 315°.

Find the distance of the points (-1, 1) from the line 12(x + 6) = 5(y — 2).
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Solution 4:
The given equation of the line is 12(x + 6) = 5(y — 2).
=12x+72=5y-10
=12x-5y+82=0 ...(1)
On comparing equation (1) with general equation of line Ax + By + C = 0, we obtain A =12,
B=-5and C =82.
It is known that the perpendicular distance (d) of a line Ax + By + C =0 from a point
. |Ax, +By, +C|
X,Y,)isgivenbyd = "—F————
(%) JA? +B?
The given point is (x,,y;)= (-1, 1).
Therefore, the distance of point (-1, 1) from the given line
12(-1)+(-5)(1)+82 -12-5+82 65
= ‘ ( ) ( )( ) ‘ units:g units:u units =5 units
(12)2 +(_5)2 V169 3

Question 5:

Find the points on the x-axis whose distance from the line g+% =1are 4 units.

Solution 5:
The given equation of line is

5 4L X =1

3 4

Ordx+3y-12=0 (D)

On comparing equation (1) with general equation of line Ax + By + C = 0, we obtain A= 4, B
=3,and C =-12.

Let (a, 0) be the point on the x-axis whose distance from the given line is 4 units.

It is known that the perpendicular distance (d) of a line Ax + By + C =0 from a point

. Ax, + By, +C

(X1, yl) Isgiven by d = ﬁ
Therefore,
4 [4a+3x0-12

V& +3
:>4=M

5

:>|4a—12|:20

:>i(4a—12)= 20
= (4a-12)=20or-(4a—12)=20
= 4a=20+12 or 4a=-20+12

=a=8o0r-2
Thus, the required points on x-axis are (-2, 0) and (8, 0).
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Question 6:

Find the distance between parallel lines

(i) 15x+8y—-34=0and 15x +8y +31 =0
(i)l (x+y)+p=0and I (x+y)-r=0

Solution 6:
It is known that the distance (d) between parallel lines Ax+By+C, =0 and

Ax + By + C, =0is given by d :M.
JA? 1+ B?
() The given parallel lines are 15x + 8y —34 =0and 15x + 8y + 31 =0
Here, A=15,B =8, C, =-34,and C,= 31.
Therefore, the distance between the parallel lines is

_ G -Cil a [34-31 un _I5 |un|ts_—5un|ts

VA B [15) +(8y R
(i)The given parallel linesare | (x+y)+p=0and I (x+y)-r=0
IXx+ly+p=0and Ix+ly—r=0
Here, A=1,B=1,C,=p,andC, =—r
Therefore, the distance between the parallel lines is

_15=C] _ [pe units = [p+ |unts [p+ |un|ts,_1||o+r|

\/A2+B2 21 J2r7 12 J2

units

Question 7:
Find equation of the line parallel to the line 3x — 4y + 2 = 0 and passing through the point (-2,
3).

Solution 7:
The equation of the given line is
3X—4y+2=0

Ory= —+-—
y 4

ory:%x+2£ Which is of the formy =mx + ¢

.. Slope of the given line = —
It is known that parallel lines have the same slope.

.. Slope of the other line =m= %

Now, the equation of the line that has a slop of %and passes through the points (-2, 3) is
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3
(v-3)=5 {x~(-2)
4y -12=3x+6
i.e., 3x-4y+18=0

Find the equation of the line perpendicular to the line x - 7y + 5 = 0 and having x intercept 3.

Solution 8:
The given equation of the line isx - 7y + 5= 0.

Or, y=%x+§, which is of the formy = mx + ¢
.. Slope of the given line = %

The slope of the line perpendicular to the line having a slope of % IsSm=——<=-7

The equation of the line with slope -7 and x-intercept 3 is given by
y=m(x-d)

= y=-7(x-3)

=>y=-7/x+21

=>T7x+y=21

Question 9:
Find angles between the lines v/3x+y =1and x++/3y =1.

Solution 9:
The given lines are J§x+ y=1and x+«/§y =1

1 1
=—/3x+1 (1) andy=-—=x+—= ..(2
y=— @ s -0
The slope of line (1) is m, =—/3, while the slope of line (2) is m, __ 1

N

The acute angle i.e., dbetween the two lines is given by
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tan@:M
1+mm,
1
—~3+—F= ‘
tan @ = ‘/§1
85}
-3+1
tan @ = V3 _| 4
1+1| 2x+3
1
tand =—
3
0 =30°

Thus, the angle between the given lines is either 30° or 180° —30° =150°.

Question 10:
The line through the points (h, 3) and (4, 1) intersects the line 7x — 9y — 19 = 0. At right
angle. Find the value of h.

Solution 10:
The slope of the line passing through points (h, 3) and (4, 1) is
S
=2 h " aon
The slope of line 7x -9y - 19 =0or y:gx—% ism, :g .
It is given that the two lines are perpendicular.
Smpxm, =-1
N -14 1
36-9h
=14=36-9
=9 =36-14
_2
9

=h

Thus, the value of h is %2

Question 11:
Prove that the line through the point (x,, y,) and parallel to the line Ax+ By + C =0 is.

A(x=x) +B(y-y) =0

Solution 11:
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The slope of line Ax+By+C=00r y= —A X+ = ism:-é
B B B
It is known that parallel lines have the same slope.

.. Slope of the other line = m=-%

The equation of the line passing through point ( x, —y,) and having a slope mz-% is
Y-Y1= m(x_xl)
A
Y=V :-E(X_Xl)
B(Yy—¥1)=—A(x-x)

A(x=x%)+B(y-y,)=0
Hence, the line through point (x —vy,) and parallel to line Ax + By + C = 0 is

A(x=x)+B(y-y,)=0

Question 12:
Two lines passing through the points (2, 3) intersects each other at an angle of 60°. If slope
of one line is 2, find equation of the other line.

Solution 12:
It is given that the slope of the first line, m, =2.
Let the slope of the other line be m,.

The angle between the two lines is 60°.
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tan 60° = |12
1+m,m,
3 2—-m,
1+2m,

m2
= V3(1+2m,)=2-m,or3(1+2m,)=—(2-m,)
= 3+243m, +m, =20r\/3+23m, -m, = -2
:>\/§+(2\/§+1)m2 :20r\/§+(2\/§—1)m2 =—

(2y3+1) 7 (243-1)
Case 1: m, = 2-3
(2«/§+1)
2-3
The equation of the line passing through point (2,3) and having a slope of ( \/_ )
23 +1

2-3

(2«/§+1))(X-2)

(2 3+1)y 3(2\/§+1) (2—«/§)x—(2—\/§)2
(\/_ 2)x+(2\/_+1)y——4+2\/_+6\/§+3
( 3- 2)x+(2f+1)y_—1+8f

In this case, the equation of the other line is (J§—2)x + (2J§+1)y =-1+ 8\/§

(y-3)=

—
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Case Il (2+4)
asell: m,=
oA
(2-5)
The equation of the line passing through points (2,3) and having a slope of (2 o 1) is

—(2+3
2\/5—1) (x-2)

(2«/5—1)y—3(2\/§—1):—(2«/5—1)x+2(2«/§—1)

(243 -1)y+(23-1)x=4+2\3+6{3-3

(2+\/§)x+(2\/§—1)y:1+8\/§

If this case, the equation of the other line is (2+\/§)x+(2\/§—1) y=1+83

~——

(y-3)=

—

Thus, the required equation of the other line is (J§—2) x+(2J§+1) y= —1+8J§or(2 + \/?:) X +(2J§—1) y=1+83

Question 13:
Find the equation of the right bisector of the line segment joining the points (3, 4) and (-1, 2).

Solution 13:
The right bisector of a line segment bisects the line segment at 90° .
The end-points of the line segment are given as A (3, 4) and B (-1, 2).

Accordingly, mid-point of AB = (%%) =(13)
Slope of AB = :ﬂ:__zzl

-1-3 4 2
.. Slope of the line perpendicular to AB = __e -2

)

The equation of the line passing through (1, 3) and having a slope of -2 is
(y—3)=-2(x1)

Y-3=-2x+2

2X+y=5

Thus, the required equation of the line is 2x + y = 5.

tion 14:
Find the coordinates of the foot of perpendicular from the points (-1, 3) to the line
3x—4y—16 = 0.

Solution 14:
Let (a, b) be the coordinates of the foot of the perpendicular from the points (-1, 3) to the line
3X—4y—-16=0.
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(-1.3)

i 1
(a1 B
Ix < dy~ 6= 0
o _b-3
Slope of the line joining (-1, 3) and (a, b), m,= ol
a+

Slope of the line 3x -4y - 16 =0ory = %x—4, m, =%

Since these two lines are perpendicular, m, m,= -1

(-

3b-9 _1

da+4
—3h-9=—4a—-4
—=4a+3b=5 (1)

Point (a, b) lies on line 3x — 4y = 16.
~3a—-4b=16 ...(2)
On solving equations (1) and (2), we obtain

a= 58 and b = i
25 25
. : . 68 49
Thus, the required coordinates of the foot of the perpendicular are ek
Question 15:

The perpendicular from the origin to the line y = mx + ¢ meets it at the point (-1, 2). Find the
values of m and c.

Solution 15:

The given equation of line isy = mx + c.

It is given that the perpendicular from the origin meets the given line at (-1, 2).
Therefore, the line joining the points (0, 0) and (-1, 2) is perpendicular to the given line.

.. slope of the line joining (0, 0) and (-1, 2) = 31: -2

The slope of the given line is m.
s.mx —2=-1  [The two lines are perpendicular]

1
=>m= =
2

Since points (-1, 2) lies on the given line, it satisfies the equation y = mx + c.
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s2=m(-1) +c
:>2:2+%(-1)+c

:>C:2+£:§
2 2

Thus, the respective values of mand c are % and g .

on
If p and g are the lengths of perpendicular from the origin to the lines x cos # -y sin 8 =k

cos 26 and x sec @ +y cosec @ =k, respectively, prove that p*+4q° =k?

Solution 16:

The equation of given lines are
Xxcos @ -ysin § =kcos20 ...(1)
xsec § +ycosec 6 =k ...(2)

The perpendicular distance (d) of a line Ax + By + C = 0 from a point (x;,, ) is given by

4o |Ax, + By, +C|

A’ 1+ B?
On comparing equation (1) to the general equation of line i.e., Ax + By + C = 0, we obtain A
=cos #,B =-sing, and C = -k cos 26.
It is given that p is the length of the perpendicular from (0, 0) to line (1).
oo |AQ)+B(0)+C|  |c|] |-kcos2d|
- JA 1B’ JA? B2 cos® 9+sin’ 0
On comparing equation (2) to the general equation of line i.e., Ax + By + C = 0, we obtain A
=secd, B =cosecd, and C = -k.
It is given that q is the length of the perpendicular from (0, 0) to line (2).

A(0)+B(0)+C C —k
R ORI - I @

JA? + B2 JA? + B2 Y \sec? 0 + cosecd

From (3) and (4), we have

=|—k cos 26| ..(3)
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K| 2
?+49° =(|-k cos 20 2+4£ | ]
P (| |) \Jsec? 6+ cos ec?d
2
=k’ cos® 20+ — o -
(sec 0 +cosec 6?)
2
=k? cos® 26 + 4k

1 1 j
cos“ @ sin“ @

2
=k?cos? 20 + _24k -
sin“ @+ cos- @
sin® @cos® @
2
=k? cos? 26 + Ak

(s pens0)
sin® 8cos® 6

=k? cos® 26 + 4k* sin” @ cos® 6
=k?cos® 20 +k* (2sin «9cos49)2
=k? cos® 26 +k?*sin® 26

=k?(cos” 20 +sin’ 20)

= k2

Hence, we proved that p® +4q9° =k?

Question 17:
In the triangle ABC with vertices A (2, 3), B(4, -1) and C(1, 2), find the equation and length
of altitude from the vertex A.

Solution 17:
Let AD be the altitude of triangle ABC from vertex A.
Accordingly, ADLBC
Al 3)
-
B(4-1) D Ci{l.2)

The equation of the line passing through point (2, 3) and having a slope of 1 is

(y-3)=1x-2)
=Xx-y+1=0

=>y-x=1
Therefore, equation of the altitude from vertex A=y —x = 1.
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Length of AD = Length of the perpendicular from A (2, 3) to BC
The equation of BC is

(y+1):ff+i(x—4)

= (y+1)=-1(x-4)
= y+1l=-x+4

= X+y-3=0 (1)
The perpendicular distance (d) of a line Ax + By + C = 0 from a point (x,, Y, ) is given by
4o |Ax, + By, +C|

VA? +B?
On comparing equation (1) to the general equation of line Ax + By + C = 0, we obtain A =1,
B=1and C=-3.

a |1>< 2+1x 3-3|

2
.. Length of AD = units = uunits _2 units = /2units

J2 412 V2 J2
Thus, the equation and length of the altitude from vertex A are y — x = 1 and /2 units
respectively.

Question 18:
If p is the length of perpendicular from the origin to the line whose intercepts on the axes are
a, and b, then show that iz = i2+i2
p° a° b

Solution 18:
It is known that the equation of a line whose intercepts on the axes are a and b is
5 4L X =1
a b
Or bx +ay =ab
Orbx+ay—ab=0 ..(1)
The perpendicular distance (d) of a line Ax + By + C =0 from a point (xl, yl) is given by
i |Ax, + By, +C|

A’ 4+ B?

On comparing equation (1) to the general equation of line Ax — By + C = 0, we obtain A = b,
B =4 and C = -ah.
Therefore, if p is the length of the perpendicular from point (xl, yl) = (0, 0) to line (1),
We obtain
|A(0)+B(0)—ab|

P Jb? + a2

[-ab)
Jb? +a?

On squaring both sides, we obtain

=p=
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Hence, we showed that iz = iz +l

p> a® b’

Miscellaneous Exercise

Question 1:

Find the value of k for which the line (k — 3)x-(4 - k?)y + k*- 7k +6=0 s
(a) Parallel to x-axis,

(b) Parallel to y-axis,

(c) Passing through the origin.

Solution 1:
The given equation of line is
(k=3)x-(4- ky+ k*-7k+6=0 ...(1)
(a) If the given line is parallel to the x-axis , then
Slope of the given line = Slope of the x-axis
The given line can be written as
(4-k*)y=(k-3)x+ k> =7k +6 =0

(k-3) k* -7k +6
= X+

- 2 >—, Which is of the formy = mx + c.
(4-k%) (4-K?)

y

(k-3

.. Slope of the given line =
P g (4—k?%)

Slope of the x-axis =0

. (k=3 _

T (4-k?)

=k-3=0

=k=3

Thus, the given line is parallel to x-axis , then the value of k is 3.

(b) If the given line is parallel to the y-axis, it is vertical. Hence, its slope will be undefined.
(k-3

(4-Kk%)

The slope of the given line is

Now, % is undefined at k=4

k?=4
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=>k=4%2

Thus, if the given line is parallel to the y-axis, then the value of k is £ 2.

(c) If the given line is passing through the origin, then point (0, 0) satisfies the given equation

of line.

(k—3)(0)—(4k*)(0)+k* -7k +6=0

k’-7k+6=0

k’-6k-k+6=0

(k-6)(k-1)=0

k=1or6
Thus, if the given line is passing through the origin, then the value of k is either 1 or 6.

Question 2:
Find the values of ¢ and p, if the equation x cos@ + y sin@= p is the normal form of the line

\/§x+y+2:0

Solution 2:

The equation of the given line is \/3x+y+2=0
This equation can be reduced as

J§x+ y+2=0

= —ﬁx —-y=2
On dividing both sides by \/(—ﬁ)z +(—l)2 =2, we obtain

31

2

2 2

:[—?Jw{—%jy:l ()

On comparing equation (1) to x cosé +y sinf=p, we obtain

N

cosf =-—,sinf= —E, and p =1
2 2

Since the value of sin@ and cosé are negative, 0= 7z+% _Iz

6

Thus, the respective values of 8 and p are %z and 1.

Find the equation of the line, which cut-off intercepts on the axes whose sum and product are
1 and -6, respectively.

Solution 3:
Let the intercepts cut by the given lines on the axes be a and b.
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It is given that

atb=1 .. (1)

ab =-6 .. (2)

On solving equations (1) and (2) , we obtain

a=3andb=-2ora=-2andb=3

It is known that the equation of the line whose intercepts on the axes are a and b is

5+X:1 orbx+ay—ab=0

a b

Casel:a=3and b=-2

In case, the equation of the line is -2x + 3y +6 =0, i.e., 2x— 3y = 6.
Casell:a=-2andb=3

In this case, the equation of the line is 3x —2y + 6 =0, i.e., -3x + 2y = 6.

Thus, the required equation of the lines are 2x — 3y =6 and -3x + 2y = 6.

Question 4:

What are the points on the y-axis whose distance from line g+% =1is 4 units.
Solution 4:

Let (O, b) be the point on y-axis whose distance from line §+% =1 is 4 units.

The given line can be writtenas 4x + 3y —12=0 ... (1)
On comparing equation (1) to the general equation of line Ax + By + C = 0, we obtain A = 4,
B=3 C=-12
It is known that the perpendicular distance (d) of a line Ax + By + C =0 from a point (xl, yl)
is given by
4o |Ax, + By, +C|

A’ 1+ B?

Therefore, if (0, b) is the point on the y-axis whose distance from line g+z =1 is 4 units,

then:
[4(0)+3(b)-12)
4?2 +3?

3012

4=

=4=

= 20=[3b-12)

= 20=+(30-12)

= 20=(3b-12)0r20=—(3b-12)
= 3b=20+120r3p = -20+12

:>b:gorb:—§
3 3
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Thus, the required points are [Os—;j and [O,—g)

Oii1estion 5

Find the perpendicular distance from the origin to the line joining the points
(cos@,sin@)and (cosg,sing)

Solution 5:
The equation of the line joining the points (cos#,sin&)and (cosg,sin¢)is given by
(cos@,sin@)and (cos ¢,sin¢)
sing—sin@
COS¢ —C0osd
y(cos¢—cos@)—sin & (cosp—cosd) = x(sing—sind)—cosd(sing—sin &)
X(sin@—sin @)+ y(cos¢—cos@)+cosdsin ¢—cos@sin 6 —sin @cos ¢ +sin dcosd =0
x(sin@—sing)+ y(cosg—cosd)+sin(¢p—6) =0
Ax+ By +C =0, whereA =sin 8 —-sin ¢, B = cos ¢ —cos @, andC =sin(¢ —0)
It is known that the perpendicular distance (d) of a line Ax +By +C =0 from a point (xl, yl) IS
given by
4o |Ax, + By, +C|

VA? +B?

Therefore, the perpendicular distance (d) of the given line from point (xl, yl) =(0,0)is

y—sing= (x—cos®)
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J_ |(sin@—sing)(0)+(cos¢—cosd)(0)+sin(4—0)|
\/(sin 0 —sin ¢)2 +(cos¢—cos 6?)2
_ sin(¢-9)
Jsinz9+sin2¢—23inesin¢5+cosz¢+cosz9—Zcos¢cose
sin(¢-9)
\/(sinz49+c0520)+(sin2¢+0052¢)—2(sin95in¢+cos¢cos¢9)
____fin(¢-9)
\/1+1—2(cos(¢—9))
sin(¢-9)
\/2(1—cos(¢—9))
___[sin(4-9)

Pl (%)

sin(¢-9)

Zsin(M)‘
2

Question 6:
Find the equation of the line parallel to y-axis and draw through the point of intersection of
the lines x — 7y + 5=0and 3x +y =0.

Solution 6:

The equation of any line parallel to the y-axis is of the form
X=a .. (D)

The two given lines are

X—7y+5=0 ... (2)

3X+y=0 ...(3)

On solving equation (2) and (3), we obtain x = -25—2and y= %

Therefore, (—2—52%) is the point of intersection of lines (2) and (3).

3

Since line x = a passes through point [—i E) a= %

2222

Thus, the required equation of the line is x = %

Question 7:
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Find the equation of a line drawn perpendicular to the line §+% = 1 through the point, where

it meets the y-axis.

Solution 7:
The equation of the given line is §+% =1
This equation can also be writtenas 3x + 2y — 12 =0

y:_??’x + 6, which is of the formy=mx + ¢
..
.. Slope of the given line = =
. : . . 1 2
.. Slope of line perpendicular to the given line = ——— = 2

-2)

On Substituting X with 0 in the equation of the given line, we obtain r =1=>y=6

Let the given line intersect the y-axis at (0, y).

.. The given line intersects the y-axis at (0, 6).

The equation of the line that has a slope of % and passes through point (0, 6) is

2
(y-6)=5(x-0)
3y—18=2x
2x—-3y+18=0
Thus, the required equation of the line is 2x—3y+18=0

Question 8:
Find the area of the triangle formed by the liney —x=0,x+y=0and x—k = 0.

Solution 8:

The equation of the given lines are

y—-x=0 .. (D)

Xx+y=0 ... (2)

x-k=0 ... (3)

The point of intersection of lines (1) and (2) is given by

x=0andy=0

The point of intersection of lines (2) and (3) is given by

x=kandy=-k

The point of intersection of lines (3) and (1) is given by

x =k and y = k

Thus, the vertices of the triangle formed by the three given lines are (0, 0) ,(k, -k), and (k, k).
We know that the area of a triangle whose vertices are (x,,¥;), (X, ¥,),and (s, y;) is
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1

SPa(ya=¥a) X (Ya=y) + % (= Vs )

Therefore, area of the triangle formed by the three given lines
=%|O(—k—k)+k(k—0)+k(0+ k)|square units

= %‘kz +k?| square units

:%‘Zkz‘square units

= k’square units

Question 9:
Find the value of p so that the three lines3x +y—-2=0,px+2y—-3=0and 2x-y-3=0
may intersect at one point.

Solution 9:

The equation of the given lines are
3Xx+y-2=0 (1)
px+2y—-3=0 ...(2)
2X—-y-3=0 ...(3)

On solving equations (1) and (3), we obtain
x=landy=-1

Since these three lines may intersect at one point, the point of intersection of lines (1) and (3)
will also satisfy line (2).

p(1)+2(-1)-3=0

p-2-3=0

p=5

Thus, the required value of p is 5.

Question 10:
If three lines whose equations are y =mx+c,, y =m,Xx+c,,and y =m,x+c, are concurrent,

then show that m, (¢, —c;)+m, (¢, —¢,)+m,(c,—c,) =0

Solution 10:

The equation of the given lines are
y=mX+C¢ .. (D)
y=m,X+C¢, .. (2)

y =Mm,X+C, ... (3)

On subtracting equation (1) from (2) we obtain
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0=(m,-m)x+(c,—¢,)
=(m-m,)x=c,—¢

C,—C

m —m,

On substituting this value of x in (1), we obtain

y:m1£ — ]"'Cl
m, —m,

y= m1C2_mlCl+Cl

= X=

m, —m,
y= m,C, — MG + MG — MG
m, —m,
y= m,c, —m,&
m, —m,

[ C—G MG _mzclj is the point of intersection of line (1) and (2).
m, —m, m, —m,

It is given that lines (1), (2), and (3) are concurrent. Hence, the point of intersection of lines (1)
and (2) will also satisfy equation (3).

Mm,C, —M,G (CZ_Cl j+c3

—:m3
m, —m, m, —m,

M,C, —M,G — M,C, +M,C +CyM, —C;M,
m, —m, m, —m,

m,C, —M,C;, —M,C, + M,C, +C;M, —C;M, = 0
m, (¢, —¢;)+m, (c;—¢,)+m,(c,—c,)=0
Hence, m, (¢, —¢;)+m, (¢, —¢;)+my(c,—¢,)=0

Question 11:

Find the equation of the line through the points (3, 2) which make an angle of 45° with the
line x — 2y = 3.

Solution 11:
Let the slope of the required line be m,.

The given line can be writtenas y = %x—g , which is of the form y=mx + ¢

.. Slope of the given line = m, :%

It is given that the angle between the required line and line x — 2y = 3 is 45°.
We know that if #is the acute angle between lines |, and I, with slopes m, and m, respectively,

then
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tang = |-z —M
+mm,
m —_
tan45°—| Sl
1+mm,
1
=1= 2 0
1+
2
(1—2m1]
2
=& 2+m,
2
1o 1-2m,
2+m,

jlzi[l—zmlj

2+m

:>1:1_2m1 or 1:—(1_2ml]
2+m, 2+m

=2+m =1-2m or 2+m, =-1+2m,

1
:>ml=—§orm1=3

Casel:m =3
The equation of the line passing through (3,2) and having a slope of 3 is:
y-2=3(x-3)
y-2=3x-9
3X-y=7
1
Casell:m, = 3

The equation of the line passing through (3,2) and having a slope of — % is:

1
2= Z(x-3
y 3(><)

3y—-6=-x+3
X+3y=9
Thus, the equations of the line are 3x-y =7 and x + 3y = 9.

Question 12:
Find the equation of the line passing through the point of intersection of the line 4x + 7y — 3
=0 and 2x — 3y + 1 = 0 that has equal intercepts on the axes.
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Solution 12:

Let the equation of the line having equal intercepts on the axes be

5 +X =1

a a

Or x+y=a ..(1)

On solving equations 4x + 7y —3 =0 and 2x — 3y + 1 = 0, we obtain x:%and y =%
(%%j is the point of the intersection of the two given lines.

) ) . 1 5
Since equation (1) passes through point | —,— |,
q Dp gnp (13 13J

1.5_

13 13
6

=a=—
13

.. Equation (1) becomes x +y = % ie., 13x + 13y = 6.

Thus, the required equation of the line 13x+13y=16.

Question 13:
Show that the equation of the line passing through the origin and making an angle & with the
line
y=mx+c,is y_ mttand
X l1¥mtand
Solution 13:
Let the equation of the line passing through the origin be y = mx.

If this line makes an angle of dwith line y = mx + c, then angle & is given by
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S tang=|u—M
1+mm
Y m
= tand =X
1+¥m
X
Y m
=tanf=+| X
1+Xm
X
Y _ o
= tan@ =X or tand=—| X
1+ Im 1+ Im
X
Y m
tan g = X
1+Xm
X
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Case I
Y m
tan @ = X
1+Ym
X
:>tan6?+lmtan9:X—m
X X

:>m+tan¢9:X(1—mtan0)
X

y_ m+tané
X l-mtan@

X
=-m
Casell: tan@=-| 2
1+Xm
X
Y m
tang =—| X
1+Ym
X
:>tan6?+1mtan9=—l+m
X X
:>l(1+mtan¢9)=m—tan6?
X
y m-tané
>s=—
X 1l+mtanéd
. D y mzttané
Therefore, the required line is given by —=——
X 1Fmtand
Question 14:
In what ratio, the line joining (-1, 1) and (5, 7) is divisible by the line x + y = 4?
Solution 14:
The equation of the line joining the points (-1, 1) and (5, 7) isgiven b y
7-1
—1=—-(x+1
y 5+1( )
y—1:§(x+1)
6
X—y+2=0 (1)
The equation of the given line is
X+y-4=0 ..(2)
The points of intersection of line (1) and (2) is given by
x=1landy=3
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Let point (1, 3) divide the line segment joining (-1, 1) and (5, 7) in the ratio 1 : k.
Accordingly, by section formula,

k(-1)+1(5) k(1)+1(7
19 (K20 K107

1+k ' 1+k

:(1,3): ﬂ,ﬂ
1+k 1+Kk
—k+5_l K+7
1+k  1+k
—k+5:1
1+k
= -k+5=1+k
=2k=4

=k=2
Thus, the line joining the points (-1, 1) and (5, 7) id divided by line x + y = 4 in the ratio 1:2.

Question 15:

Find the distance of the line 4x + 7y + 5 = 0 from the point (1, 2) along the line 2x —y = 0.
Solution 15:

The given lines are

2X—-y=0 .. (D)

4x+7y+5=0 ... (2)

A (1, 2) is a point on line (1).
Let B be the point intersection of line (1) and (2).

A+ +5=0

On solving equations (1) and (2), we obtain x = I—g and y= %5

.. Coordinates of point B are (_—5_—5j
18 9

By using distance formula, the distance between points A and B can be obtained as
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Zunits
4

N

23 .
= —x—UnIts
9 2

235
1

units

Thus, the required distance is units.

235
1

Question 16:
Find the direction in which a straight line must be drawn through the points (-1, 2) so that its
point of intersection with line x + y = 4 may be at a distance of 3 units from this point.

Solution 16:

Let y = mx + c be the line through point (-1, 2).

Accordingly, 2 = m(-1) +c.

=>2=-Mm+C

=Cc=m+2

SLy=mx+m+2 ..(Q2)

The given line is

Xx+y=4 ... (2)

On solving equation (1) and (2), we obtain
2-m Sm+2

X=——and y=
m+1 m+1

. (Z—m 5m-+2

Im+l’ m+1

Since this point is at a distance of 3 units from points (-1, 2), accordingly to distance formula,

j is the point of intersection of line (1) and (2).
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2 2
(2—m+1j +(5m+2_2) _3
m+1 m+1
(2—m+m+1)2 (5m+2—2m—2j2 )
= + =3
m-+1 m+1
9 om?
= 2t > =9
(m+1)" (m+1)
1+m*
(m +1)2
=1+m*=m*+1+2m
=2m=0
=>m=0
Thus, the slope of the required line must be zero i.e., the line must be parallel to the x-axis.

Question 17:
The hypotenuse of a right angled triangle has its ends at the points (1, 3) and (-4, 1). Find the
equation of the legs (perpendicular sides) of the triangle.

Solution 17:
Let ABC be the right angles triangle, where 2C = 90°
There are infinity many such lines.
Let m be the slope of AC.
= Slope of BC = e
m

Equation of AC: y—3=m(x-1)
= Xx-1= 1 (y-3)

m

Equation of BC: y—-1= e (x+4)
m
= xX+4=-m(y-1)
For a given value of m, we can get these equations
Form=0,y-3=0; Xx+4=0
Form— oo, x-1=0; y—-1=0

Find the image of the point (3, 8) with respect to the line x + 3y = 7 assuming the line to be a
plane mirror.

Solution 18:
The equation of the given line is
X+3y=7 .. (D

Let point B (a, b) be the image of point A (3, 8).
Accordingly, line (1) is the perpendicular bisector of AB.
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Ag3 8

'n. {in, |r'll:l

Slope of AB = b__:8>, , While the slope of the line (1) = —%
a_

Since line (1) is perpendicular to AB,

(S
a-3 3
N b-8 1

3a-9
=b-8=3a-9
=3a-b=1 (2)

a+3 b+8j

2 ' 2
The mid-point of the line segment AB will also satisfy line (1).
Hence, from equation (1), we have

(a+3j+3(b+8)=7
2 2
=a+3+3b+24=14

—a+30=-13 -(3)

On solving equations (2) and (3), we obtaina = -1 and b = -4.
Thus, the image of the given point with respect to the given line is (-1, -4).

Mid-Point of AB = (

n19:
If the linesy = 3x + 1 and 2y = x + 3 are equally indicated to the line y = mx + 4, find the
value of m.

Solution 19:

The equation of the given lines are
y=3x+1 ...(1)

2y=x+3 ...(2)

y=mx+4 ...(3)

Slope of line (1), m, =3
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Slope of line (2), m, =%

Slope of line (3), my=m

It is given that lines (1) and (2) are equally inclined to line (3). This means that the given angle
between lines (1) and (3) equals the angle between lines (2) and (3).

ml_m3|: mz_m3|
1+mlm3‘ 1+m2m3‘
1om
N 3-m _|2 :
1+3m 1+2m
2
3-m| |1-2m
- =
1+3m m+2

3—-m 1-2m
= =ar
1+3m m+2

3-m 1-2m 3-m (1—2m)
= = or =—

1+3m m+2  1+3m \m+2
3-m 1-2m
1+3m m+2
(83—m)(m+2)=(1-2m)(1+3m)

=-m’+m+6=1+m-6m*

If , then

=5m*+5=0

= (m2 +1) =0

= m=+/-1, which is not real
Hence, this case is not possible.

[ fos2 1)
1+3m m+2

= (3-m)(m+2)=—(1-2m)(1+3m)
:>—m2+m+6:—(1+m—6m2)
=7m?>-2m-7=0

_ 2+ J4-4(7)(-7)

m
- 2(7)
—me 2i2«/1+49
14
:>m:1+§\/§

Thus, the required value of mis

1452
.
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Question 20:
If sum of the perpendicular distance of a variable point P (X, y) from the linesx +y—-5=0
and 3x — 2y + 7 = 0 is always 10. Show that P must move on a line.

Solution 20:
The equation of the given lines are
Xx+y-5=0 .. (D)
3X-2y+7=0 .. (2)
The perpendicular distance of P (x, y) from lines (1) and (2) are respectively given by
[x+y-5| and d, = Bx—2y +7|
0+ (@ +(-2)
. X+Yy-5| Bx—2y+7|
ie.,d =|— a 1 el |
R J13
It is given that d, +d, =10
Cx+ y—5|+|3x—2y+7|
2 V13
:>\/1_3|x+y—5|+\/§|3x—2y+7|—10«/%=0
:>\/1_3(x+y—5)+\/§(3x—2y+7)—10\/%=0

[ Assuming(x+y—5) and(3x—2y+7) are positive |
— J13x+ 13y —5\13 +3v2x — 2,2y + 7/2 —104/26 =0
= x(\/1_3+3«/§)+ y(\/1_3—2«/§)+(7\/§—5\/1_3—10\/%) =0, which is the equation of a line.

Similarly, we can obtain the equation of line for any signs of (x + y —5) and (3x — 2y + 7).
Thus, point P must move on a line.

d, =

ndd,

=10

Question 21:
Find equation of the line which is equidistant from parallel lines 9x + 6y — 7=0 and 3x + 2y +
6 =0.

Solution 21:

The equation of the given lines are

9x +6y—7=0...(1)

3x+2y+6=0...12)

Let p(h, k) be the arbitrary point is equidistant from lines (1) and (2). The perpendicular
distance of P (h, k) from line (1) is given by
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|9h+6k-7| [9h+6k—7| [9h+6k—7|
YTy +(6) A 3B
The perpendicular distance of P (h, k) from line (2) is given by
|3h+2k+6| |3h+2k+6|
\l \/_
Since p(h, k) is eqUIdlstant from lines (1) and (2), d, =d,
_[9h+6k—-7| |3h+2k+6|

313 13

= [9h+6k — 7| =3[3h + 2k + 6|

= [9h+6k — 7| =+3(3h+2k +6)

= 9h+6k —7=3(3h+2k +6)or9h+6k -7 =-3(3h+2k +6)
The case 9h+6k —7 = 3(3h + 2k +6) Is not possible as
9h+6k —7 =3(3h+2k +6) = —7 =18 (which is absurd)

2.9 +6k -7 =-3(3h+2k +6)

9h+6k —7=-9h—-6k —18

=18h+12k +11=0

Thus, the required equation of the line is 18x+12y+11=0

Question 22:
A ray of light passing through the point (1, 2) reflects on the x-axis at point A and the
reflected ray passes through the point (5, 3). Find the coordinates of A.

Solution 22:

{ear, 1)

\J
v

Let the coordinates of point A be (a, 0).
Draw a line (AL) perpendicular to the x-axis.
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We know that angle of incidence is equal to angle of reflection. Hence, let
/BAL=/CAL=¢

Let ZCAX =0
- ZOAB =180° - (0+2¢) =180° —[ 0+2(90° -0 |
—~180° —0-180° + 2¢

=0
. ZBAX =180° -6
. 3-0
Now, slope of line AC=—
5-a
=tand = i (1)
5-a
SLope of line AB= 20
1l-a
o 2
= tan (180 —9) L
1-a
= —tand = i
1-a
:>tan6?=i (2)
a-1
From equation (1) and (2), we obtain
3 _2
5-a a-1
=3a-3=10-2a
13
=a=—
5

Thus, the coordinates of point A are (% : Oj.

Question 23:
Prove that the product of the lengths of the perpendiculars drawn from the points

(x/az—bz,o) and (_,\/az —bz,O) to the line gcose+%sin6?:1 is b,

Solution 23:

The equation of the given line is
icos@+lsin0:1

a b

Or, bxcos@+aysind—ab =0 .. (1)

Length of the perpendicular from point (—\faz —b2,0) to line (1) is
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‘bcosé?(x/a2 —b? )+asin 6?(0)—ab‘ ‘bCOS@\f&Z —b? —ab‘

- b2 cos? @+ asin2 6 N Jb?cos? @ +a?sin? @
Length of the perpendicular from point (—va2 —b?,0) to line (2) is
‘bcos6'(—«/a2 —b? )+asin 9(0)—ab‘ ‘bcosé?«{az —b? +ab‘

p = =
’ Jb?cos? @ +a?sin? @ b2 cos? @ +a’sin? @
On multiplying equations (2) and (3), we obtain

) ‘bcos O a? —b? —abe cos@a® —b? + ab‘

PP, =

Py

2
(\/bz cos’ 8 +a?sin? 9)

‘(b cos O+/a? —h? —ab)(bcoséw'a2 —b? + ab)‘
(b2 cosze+azsin20)
2
(bcosex/az—bz) ~(ab)’
(b2 cos? 6 + a> sinze)
b? cos? 0(a2 —bz)—azbz‘
(b2 cos? 6+ a’ sin26')
a’b? cos’ 0 —b* cos® - a’b’|
b*cos® @+a’sin® @

bz‘a2 cos? 6 —b? cos? 9—a2‘
"~ b?cos’@+a’sin’6

bz‘a2 cos? @ —b? cos® O —a’sin® @ —a’ cos? 6"
- b2 cos? 0 +a’sin’ 6

bz‘—(b2 cos® O+ a?sin? 0)‘
~ p%cos’H+a’sin’e

bz(b2 cos? 0 + a> sinze)
h (b2 cos? 0 +a’ sinza)

[sin20+c052¢9:1]

Hence, proved.

A person standing at the junction (crossing) of two straight paths represented by the equation
2x — 3y +4 =0 and 3x + 4y — 5 = 0 wants to reach the path whose equation is 6x — 7y + 8 =0
in the least time .Find equation of the path that he should follow.

Solution 24:
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The equations of the given lines are

2x-3y+4=0 .. (D
3X+4y-5=0 ...(2)
6x—-7y+8=0 .. (3)
The person is standing at the junction of the paths represented by lines (1) and (2).
On solving equations (1) and (2), we obtain x = —% andy = %
. : . 1 22
Thus, the person is standing at point | ——,—
17 17
The person can reach path (3) in the least time if he walks along the perpendicular line to (3)
1 22
from point | -—,—
1717
Slope of the line (3) = g

.. Slope of the line perpendicular to line (3) =

€ e

The equation of the line passing through [ j and having a slope of —% is given by

5)sls)
y—— |=—=| X+-—
17) e\ 17
6(17y—22)=-7(17x+1)
102y -132 = -119x—7

119x+102y =125
Hence, the path that the person should follow is 119x +102y =125.
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